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7" IMPERIAL - USC (Lengths, Diameters = in.)
7.00" 7-8 2.9 STAGE HR SERIES 2 SHORT | 146 | 242 | 287 | 369 | 443 | 540 | 71.1 | 660 | 720 | 911 | 91.2 [3047[311.1[3411] 65 | 70 | 53 | 70 [ 78 [ 70 | 70 [ 74 [ 70 | 74 | 70 | 28 | 49 | 40 | 40 | 43 | 68 | 70 | 638
7" METRIC - SI (Lengths = m) (Diameters = mm)
7.00" 7-8 2.9 STAGE HR SERIES 2 SHORT | 0.37 | 0.61 | 073 094 | 113 | 137 | 1.81 | 168 | 183 | 231 | 232 | 774 | 7.9 | 866 [163.83] 177.8 13335 177.8 [196:85] 1778 [177.8 [187.45]177.8 [187.45/ 1778 | 70.1 [123.44] 101.6 |101.6 [109.22]172.97] 177.8 [172.97,
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